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IEEY oy 2 28 1,652,719 1,530,401 122,318
= 446,839 428,373 18,466
| 222,848 223,240 £392
= 254,602 213,469 41,133
2 728,430 665,319 63,111
IIEYAED U A X 74,830 78,800 £3,970
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01 AFR 22| 7,79 8,200 A410
OXsge S 228 HE
10, 00021 +20052+95% 1,900 2,000 A100
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Aoty Zay HE 2F) 90,000 90,000 0
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IIEsYeoE 2 X 83,99 85,044 A1,052
=2 53,839 53,363 476
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02023 Jt=29 g Is=Z01 X XA 25 0 25
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ORHE 8= 23t 429,197 442,597 13,400
< 5,200 10,000 24,800
[ 423,997 432,597 8,600
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101 Q124H| 39,000 42,600 23,600
< 11,700 21,300 /9,600
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= 2,661,156 2,625,880 35,276
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—AZEZAIRCIIMHE &I L SAe2
100,000 *127H A 122 x95% 13,680 14,400 AT
OdzI(AH=2XSHH T4
3,200,000 *95% 3,040 3,200 A160
OAIE&H| XUl 12,142 12,780 AB3B




2A: sHIIsUEH
A MEE B8
el A= YR (St &)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
—JIAE € &EEH !X
30,0002 *45CH*95% 1,283 1,350 N67
— O & |X 540,000 2CH*95% 1,026 1,080 A54
—2&I| | 10, 0002 *135CH*95% 1,283 1,350 N67
—MEZAEL KA
450, 0002 %2004 22 %95% 8,550 9,000 450
301 Let2AZ 3,928 4,120 N192
1 HAAHIXIES 1,728 1,920 AR
OttEdlzted & Bl A 576 640 164
— MG EH 80,0002 5% *12]*90% 360 400 240
—&He A 8,000 30 *12]+90% 216 240 a2
Oat=2 A & Mot wsEA 1,152 1,280 N128
—4h2 LA (ZISHTH30Y, 2 AIR80E)
8,000 * 1102 * 12«00k 7R 880 ~88
—&tE 2UA S8 WA
70,0002 % 141%90% 63 70 AT
—MENEOIE NFEA
3,000 * 1102 * 121 «00f% 297 330 A33
308 ARISMSOIE 235,779 188,961 46,818
07 MAEH2FES 235,779 183,961 46,818
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